Worksheet 1 Solutions

2. Consider the surface defined by z = sin(x + y) over the rectangle R = [0,7/2] x [0, 7/2].
Use a double Riemann sum with m = n = 4 to approximate the volume under the surface
using lower left corners as sample points and upper right quarters as sample points.
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3. Let R = [a,b] x [c,d] be a rectangle in the plane. Find [ [ 1dA and [ [ kdA where
k € R is a constant.
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4. Based on your answer to the previous question, if R is any shape in the plane what is
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5. Consider the rectangle R = [0,1] x [—1,1]. For which of the following functions is
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6. Consider the following contour plot of a function h(z,y).
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Use Riemann sums with m = n = 4 to estimate ff[o.z]x[o.z] h(z,y)dA. Give an upper
and a lower bound for [ f[o 2x[0,2] h(z,y)dA.
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